18 51 1t 3% 51 180 1 = £ B F B2 Il A #54K 05

&H3-2

(FH6FEREFR)
BREE T /T
24k BiZ2EE
EHRERE R2 R3 R4 RS R6
A
FERSRE | 41 | 12 6 51 11 7
N R2 13 12 1 0 0 0
= R3 6 5 1 0 0
i
e R4 7 4 2 1
i3 R5 11 9 2
R6 1 1
A &t 38 " 12 6 5| 11 1
XFEMER IR M T LIS D S ER
ERE(B/A) | 92.7%
SHEEDIEIER
=5 BEIE
N = TR EE &b =
SH| me EERE BE e PE ) pw | omm | an
MRt RiEE% 0
HEHBERIER 0
AR—Y:-LH)IT—3 0
ik
THRRIEER 0
NEEE 0
PREE R 0
FECXERR 0
EERIER 0
BB R 0
IRIBRTE MR 0
EEEER 0
IR SR 0
NE 0
TKE SR 0
KB % 1 1
Z Dt 0
&it 1 0 0 0 0 0 1 0 0




SH6FE ERFAHADMER—E

No PR At | EERE  (O0| WENE | SRsE
| |graris ks R BILET | BELE B RO |MEREEE  |#kHE
SH6EE RERMDEHR—E

No W38 R ZE RiEHE DG | HENE 5 E
| e BILET | T s R IS Fa

2 [SRIERBOE  |@HE | BEiL EE RO |BLLIRRE  |EtiER

3 |[RBERBRRT—IL HaEFHT Bl RIE R6 |ERJtiRELER I mER




